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     For the Teacher

Objectives:
Using the Serpinski aplet, the student will investigate the production of Serpinski’s Triangle by a random process which nevertheless has a deterministic result.

Functionality:
	When the student presses  Start  , the view shown right will appear.  The  Quit  option returns to the HOME view.

Pressing  Play  will start the main section of the aplet. 

The user will be asked to supply:

· the number of iterations (default 200). The value of 200 is the bare minimum to see the Serpinski Triangle begin to appear. A more realistic value is 400.


· the side length (default 7). It is suggested that the user not change this value. It controls the size of the triangle. Too small and it will not be properly visible. Too large and it will extend off the screen.


· the initial position of the first dot, as an x coordinate and then a y coordinate. The default is (3,1).


· the probabilities for choosing which vertex to orient on when choosing the next point. The default is 1/3, 1/3, 1/3.

The result is Serpinski’s Triangle, as shown right. It should be mentioned that the example shown right is the result of many iterations! To illustrate, the second example is the result of 1000 iterations.
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Additional Exploration:
	Try changing the probabilities and the starting point.  The surprising result is that there is no effect!

  


Ideas can be applied to:





Chaos Theory






Programs associated with this aplet:

.SER.S,   .SER.PLAY

Aplet & documentation copyright ©2005, C. Croft <ccroft@hphomeview.au> and Pat Forster.




